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1. Let X be the set of all persons living 3. Consider the following statements in
in a city. Persons x, y in X are said respect of the given equation :
to be related as x < yif yis at least
5 years older than x. Which one of (x? +2) +8x? = 6x(x? +2

the following is correct?

1. All the roots of the equation are

fa) The relation is an equivalence complex.

relation on X
2. The sum of all the roots of the
fb) The relation is transitive but equation is 6.
neither reflexive nor symmetric
Which of the above statements

) The relation is reflexive but is/are correct?
neither transitive nor
symmetric {a) 1 only
{d) The relation is symmetric but (b} 2 only

neither transitive nor reflexive
¢/ Both 1 and 2

2. Which one of the following matrices {d) Neither 1 nor 2
is an elementary matrix?

100 4, In solving a problem that reduces to
faj {0 0 O a quadratic equation, one student
001 makes a mistake in the constant
term and obtains 8 and 2 for roots.
Another student makes a mistake
1 5 0 only in the coefficient of first-degree .
b} 10 1 0 term and finds -9 and -1 for roots.
00 1 The correct equation is
(@) x°-10x+9=0
[0 2 0]
fcj |1 0 O 2
00 1 () x“+10x+9=0
i 0 o (€ x?-10x+16=0
fd (01 0
L0 S 2] {d) x2-8x-9=0
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1. o difve B & o 3 ©@ 9 Wi
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{a) 4 Y X T TH Joad WY B

(b) T WY WHEE 3 FRg T @
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) TR WY Wy & fhg 9 @
e 8 iR A € i 2

(@) T& wEy whbm ¥ feg T @
@ & o 7 € Eges }

2. Tr=foia seggt § @ BR-w & IR
g 7

1 00
{a) |0 0
0 1

S o

¢ (|1 0O

fdj |0

—
]
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3. gdEm  (x? +2)% +8x? = 6x{(x? +2)
F =i § fmfafas wan w AR
Hifu

1. 38 gfiEw & wft oa afe )
2. 3@ gfmm & wit gEt F149m 6 R

IO FoA H W BR-41/R w R/
@) Fad 1

(b) I 2

fc) 1 3R 22F

fd) Fd13MIA2

4, & WA ®, At T e ffam gdiwom

|uHia At ¥, T Hd ge U feremeff
AT U8 AN Al § IR A 8 T 2
T Al 71 qu el e gum-am
w ¥ s d TR w2 e g
-9 TYT -1 YT XA &1 WE GHE
27

fa) x2-10x+9=0
) x%+10x+9=0

fc) x%>-10x+16=0

(d) x?2-8x-9=0

[P.T.0.

Your P

repp .

ersonal Exams Guide




www.prepp.in .repp

Your Personal Exams Guide

5. If 8. The matrix

A 2 7 )
=1 5 |:O ~4+1]
4+ 0

then what is A + 3471 equal to?

(@ 3I 'S
{b) SI {a} symmetric
fej I
{d} None of the above (b} skew-symmetric
A
where [ is the identity matrix of fc) Hermitian
order 2.

{d) skew-Hermitian
6. In a class of 60 students, 45

students like music, 50 students
like dancing, 5 students like

neither., Then the number of 9. Let Z be the set of integers and
students in the class who like both aRb, where a, be Z if and only if
music and dancing is (a - b) is divisible by 5.
{aj 35 Consider the following statements :
() 40 1. The relation R partitions Z into
five equivalent classes.
fc) 50
2.  Any two equivalent classes are
fd) S5 . -
either equal or disjoint. .
7. 1f Which of the above statements

i o
log, 2, log;o(2* - 1) and log,(2* + 3} Is/are correct:

are three consecutive terms of an

) fa) 1 only
AP, then the value of x is
fa) 1 () 2 only
(b) logs?2
fc) Both 1 and 2
fc) log, 5
(d) logig S {d) Neither 1 nor 2

B-PFCA-O-PEW/53A 4
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5. afe A=[21 ;] g, M A+3A7! e

TR 27

fa) 3f

() 5I

fe) TI

(d) 394E T A S 4

el 1, i 2 W TrETE AR B

6. 60 foenffat f = @ § 45 foenefi

7. T

¥fid va= FQ , 50 foeneff 390 wo=
¢ AR 5 femff 391 8 @ 3w o0
o TE A B T § 37 R 4,
=7 87

(@) 35
(b) 40
c 50

{d) 55

logp2  logip(2*-1) 3K
log,o(2%+ 3) T THIRR Aot (AP) &
A T T 2, T x T HH BT

faj 1
(b) logs2
fc) log, S

{d} log,n 5

B~PFCA-O-PEW/B3A

0 4+i
}Tﬂﬂ%?

(a) afa
b) Tam-emiim
(c) Ol

(d Tam-ghid

9. WM w6 quifet =1 wg=E z } #in

arb, W& a, be 2, ¥fE I FI@ AR
(a-b), 59 faseg &)

frafafEa o w fmr fifs

1. @&y R, Z H U g9+ R
fenmifera =t B

2. FR AT T WA R ¥ W
30T B

I S A R/

fa) a4 1

(b) FaT 2

¢) 132t

[d) 3d1amId2
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10, If
) ;
z= (1+2i)
3+1
where i=+-1, then the
argument 8{-n<B8<n)of z is

3n

fal n

{b)

(c)

olg +in

(@ -3t

11. If m and n are the roots of the
equation {(x + p)(x+q) -k =0, then
the roots of the equation

(x-m){x-n)+k=0
are
(@) pandgqg
(b} 1/pand l/q
fc) -pand -q
fd) p+qand p-gq

12. What is the sum of the series
0-5+0-55+0-555+-.- to nterms?

@ 3-3-5)
o 35305
)
@ 33107

B-PFCA-O-PEW/53A
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13. If I, o, ©? are the cube roots of unity,
then the value of

(1+ @) (1+@?)(1+0*)(1+wd)
is
fa} -1
b} 0
fc) 1
(d) 2
14. LetA={1,2,3,4,5,6,7,8,9, 10).
Then the number of subsets of A
containing exactly two elements is
{a) 20
fb) 40
{c} 45
{d) 90
15. What is the square root of i, where
i=4~17
@ 1

1-1
w5

1+i
“ &=

{d}) None of the above
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2= 202w oy

3+1
T z 1 HIF 8(~ 1 < O < 7) 71 7

10. Tfe

3n

fa) -,

(b)

=

) -

3n

[ {d) -

11, 3 m R n LG T |
(x+p)x+q)-k=0 & Hel 3,
TR (x-m)(x-n)+k=0 % T
1 g

@ p3g

(b} 1/p3M1/q
(cj -pdX-g

(d) p+q3R p-gq

12. 390 0-5+0-55+0-555+ --- & n G

T A R

@ 35108,
© 5530
o GHE)
@ 3-50-50v)]
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13. IR 1, 0, 0? TH % A &, &

(1+ w)(1+ 0?}(1+0*)(1+0f)

w1 HF 9 37
(@ -1
(b} ©
c) 1

(d} 2

14, AA W A=(1, 2, 3, 4, 5, 6, 7, 8,

9, 10} Bl @ A % &% A oy w@
Il IEY=IAl I wEw =1 27

(a) 20
(b} 40
fc) 45

(d) 90

15. i, 5@ i = =1, % A F:0 87

(a}

1+i
2
1-1
®
1+i
“ &

(d) 35 4 A w1 TH

[P.T.O.




16. The decimal number (127-25),,,
when converted to binary number,
takes the form

faj (1111111-11),
(bj (1111110-01),
{c) (1110111-11),

(d) (1111111.01),

17. Consider the following in respect of
two non-singular matrices A and B
of same order :

1. det(A+ B)=detA+detB

2. (A+Byl=a14+pB"1

Which of the above is/are correct?
fa) 1 only

(b) 2 only

{c/ Both 1 and 2

(d} Neither 1 nor 2
18. If

3 _4 5 2 p g
X{l —1} B'[—z 1}andA“[r s}

satisfy the equation AX = B, then
the matrix A is equal to

-7 26 (7 26
@11 5] P, 17}

-7 -4 [-7 26
@ 126 13] @ |6 23}

B-PFCA-O-PEW f53A
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19. What is ¥ "*"C, equal to?
r=0

{a] i'1+2C1
{b) ﬂ.+2cﬂl
(C} n+3cn

2
(d "TEC, .,

20. How many words can be formed
using all the letters of the word
‘NATION’ so that all the three
vowels should never come together?
faj 354
(b) 348
fc) 288

{d) None of the above

21. (x3 - 1) can be factorised as

(@ (x-1)(x-0)(x+w0?)
B) (x-1)(x-m)(x-w?)
fc) (x-1)(x+)(x+e?)

[d) (x-1){x+w)(x-w)

where o is one of the cube roots of
unity.
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16. THTE HEAT (127.25),, & Tganumd
@ A qiEfda ) o 2, 9 SH-a1 §9
ol /7

faj (1111111.11),
(b) (1111110-01),
(¢) (1110111-11),

(@) (1111111-01),

17. ¥HH Fife % o1 eauig e A ol B
% T Frfafaa W faem R

1, det(A+B)=detA+detB
2. (A+Byl=At4+Rm!

IgE | & PH-a /A wd 3/
fa) Fad 1

(b) a2

fc) 1 3R 2 <M

@) A 1MAE2

18. 4fe
3 -4 5 2 2 q
Xz[l »1}3{—2 1}aﬂ1A=[r s:l

i AX = B # UgE & §, @

AR A s ater 37
-7 26 . [7 26
fa) {1 —5} ®) 14 17]

-7 -4 o [7 26
f<) [26 13} @ |6 23]
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19. ¥ ntrc, foge soem 87

r=0

(a} n+2c1
(b) '“'ZCn
(C) n+3cun

2
(d) "TEC, 1

20. WX NATION’ & &t ¥1ai &1 y9m 3=

e T8 Y= sE W H@ed § T 3
i 9 TR ey w4 o T8 amde

@ 354
(b) 348
c) 288

(d) 3T F F w5 @I

21. (x° - 1) ¥ fo@ ®9 & rEee fFm W

Thal &7

(@) (x-1(x-0)x+o?)
b) (x-1)(x-w)(x-w’)
(¢} (x-1)(x+w){x+n?)
(d) (x-1)(x+a)(x-0?)

Sl o TF F1 TF 999 B

[P.T.O.
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22. What is 25. If A={x:x is a multiple of 3} and
. 3 B={x:x is a multiple of 4! and
sin6~+i(l—cosf) C={x:x is a multiple of 12}, then
which one of the following is a
m, n
sin - —t(l—cos—j null set?
6 6
where i = V-1, equal to? fa) (A\B)uC
@) 1 (b} -1
(b} (A\B)\C
fc) 1 (d) -i

fc} (AnBjnC
23. Let !

[d) (AnB)\C
|x+y oy |2 |3
o[22 eelA] e[

.0 26. If (11101011), is converted to
[f AB = C, then what is A“ equal to?

decimal system, then the resulting

6 -10 number is
a4 26}
fa} 235
b) [-10 5:|
L4 24 (b} 175
[-5 -6
160
{c) 4 _20} (c)
s o (d) 126 :
@ |5 20]

27. What is the real part of
24, The value of

] 1 1 [sinx+icosx)3
1 1+x 1
1 1 ey where i =+/-17?
s {a}) —cos3x
fal x+y {b) -sin3x
(b) x-y
(0 xy fc) sin3x
(dj l+x+y (d) cos3x I

B-PFCA-O-PEW/B3A 10
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3
sinE + i[l—cosE]
6 6

22. , 8 i=4-1,
LT n
sin— —i| 1-cos—
g~ i{1-cos?)
fororh =T 87
fa) 1 b -1
fc) i (dy -i
. 23. M @il &

xX+y y 2 3
2 b))
314 AB=C, 0 A? foras e 7

6 -10
@ s 26

-10 5
4 24

-5 -6
() [—4 —20]

-5 -7
(d {-5 20]

1 1 1
1 I+x 1
1 1 1l+y

24. AR T RT

fa) x+y
(b) x-y
¢ xy

{d) l+x+y

B-PFCA-O-PEW/53A
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25. 4fs A={x:x, 3 & T& T %} 3

B={x:x, 4 ® & TN g} @
C={x:x, 12 & Th TN %), @
frefafan ¥ & F0-w1 ts i g 37
fa) (A\B)uC
(b) (A\B)\C

¢ (AnB)NC

(@) (AnB)\C

26. 32 (11101011}, =1 WwWeE vgd oA

giEfda 6 it 2, dt aiomh s=m e
87

{aj 235
(b} 175
{c) 160

(d 126

27. (sinx +icosx)3, W& i=+-1, &

ERSICERIUE - RS

fa} -cos3x
(b} -sin3x
f¢) sin3x

(d) cos3x

[P.T.O.
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28. If 31. Let B be a positive angle. If the
6 sing number of d=grees in 0 is divided
E(8) = cos®  sm by the number of radians in 8, then

-sin® cos®

an irrational number 180 /7 results.

If the number of degrees in 6 is

multiplied by the number of radians

in 8, then an irrational number

(a) E(of) 1257 /9 results. The angle B must
' be equal to

then E{o) E(B) is equal to

(b) E{ca-p) @ 30°
fe) E(o+B) (b) 45°
{d) -E{o+B) fc) 50°

{d) 60°

29. Let A={x, y,z} and B={p,q,r, s}
What is the number of distinct

relations from Bto A? 32. In a triangle ABC, a=(1++3) cm,

b=2 cm and angle C= 60°. Then

the other two angles are
fa) 4096
{a) 45° and 75°
(b} 4094
(b} 30° and 90°
128
fe) {c) 105° and 15°
fd} 126 {d) 100° and 20°
30. If For the next two (2) items that follow :
2p+3g=18 Let o be the root of the equation
and 4p? +4pg-3g° -36=0 25c0s” 8 + Scosf - 12 = , where © < <.
then what is (2p +cj) equal to? 33. What is tana equal to?
{a) 6 (a) -3/4
(b) 7 ' (b) 3/4
) 10 fe) ~4/3
d) 20 df -4/5
B-PFCA-O-PEW/53A 12
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28. 1 B | P Sine],aE E 31. = < 6 v wAeHs B R AR e F
o [-sme cosa T F1EWP) s 8w A 6 F el B ven &
foraes aTEt 27 fawifs e s 2, @ wiomresey @
i TEA 180 /n it ®| afe 8
{a) E{cp) 3l A TE F 6 % UTH H wEn g
R TR W R, @ whomrees @
() E(o-B) e g 125r /G ) Bl w8
free wTer 9 & =fee?
) Elo+p) @ 30°
. (d -E(o+pB) {b) 45°
{c) 50°
(d} 60°

20. Am WM fF A={x y z} @R

B={pqrs} 8l B3 A & fm 32. @ Bye ABC # a=(1++3) cm,

e w0 37 b=2 cm 3 FW C= 60° ¥ A W

3 O T EY
4096

@ {a) 45° 3t 75°

(b} 4094 (b) 30° R 90°

© 128 (c) 105° 3R 15°
(d) 100° 3R 20°

fd) 126

T 3 T | (2) weHiHL & T
30. 9% 2p+3g=18 1 A efifse |l 25c0s2 8 + Scosf- 12 = 0

4p2+4pq—3q2—36=0 %, al w@a%,ﬁg—<a<n%l
(2p + q) e s 27

@ 6 33. tanc TFrEs sOER B7
(a) -3/4
b 7
th) 3/4
fe) 10 c) -4/3
{d) 20 d) -4/5
B-PFCA-O-PEW /S3A 13 [P.T.O.
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34. What is sin2¢ equal to?

(aj 24 /25
(b) -24 /25
(c) -5/12
(d) -21/25

33. The angle of elevation of the top of a
tower from a point 20 m away from
its base is 45°, What is the height of
the tower?
faj 10 m
fb} 20 m
fcg 30 m

fd) 40 m

36. The equation

tan'l(l+x]+tan"l(1—x) =£

2

is satisfied by

fa) x=1
(b} x=-1
fe] x=0

(d) x=1/2

B-PFCA-O-PEW/53A
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37. The angles of zlevation of the top of

a tower standing on a horizontal
plane from two points on a line
passing through the foot of the
tower at distances 49 m and 36 m
are 43° and 47° respectively. What
is the height of the tower?

{&) 40 m
{b) 42 m
fc/ 45 m

(@) 47 m

38. (I-SinA+COSA|2 is equal to

faj 2(1-cosA){1+sinA)}
fb) 2(1-sinA}(l+cosA)
fc) 2{1-cosA)(1-sinA}

{d) None of the above

What is

cos6  sind
1-tan® 1-cot9

equal to?

fa) sin®-cosH

(b) sin® +cosb

{c) 2sind

{d} 2cos8
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34, sin2o TFERR SRR R?

(a) 24 /25
(b) -24 /25
(c) -5/12
(d) -21/25

35. T WO i S F  SuR ¥ 20
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37. & &fds AHad W G U HAR $ G

m

T s g 9 3997 0 45° ) fAR R

o w7
(@) 10 m
) 20 m
¢/ 30 m

(d) 40 m

36. §fFW tan~!(1+x)+tan"}(1-x)=
TR wege 2w 37

fa) x=1
) x=-1
fc) x=0

{d x=1/2

B-PFCA-O-PEW/53A

% AR F 918 ¥ oA aTeh W@ W 49 m
3R 36 m F g W & @ fargaii g a1
IAT B FET: 43° I 47° F) AR
&1 FHarg ¥ 7

faj 40 m

(b) 42 m

) 45 m

(d) 47 m

38. (1-sinA+cosA)? Tk Juar 27

I
2

39.

15

(@) 2(1-cosA)(l+sinA)
(b) 2(1-sinA){1+cosA)
fe) 2(1-cosA)(1-sinA)

(d) I A | w T

cosd sin® mw%?

+
1-tan® 1-cotd

- {a) sin®-cos®

fb) sin® +cosH

fc) 2sind

{d) 2cosB

[P.T.O.
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For the next three (3) items that follow :

Consider x=4 tan”l(l), y= tan‘l[i]
S 70

and z = tan“l(—lw}
99

40. What is x equal to?

(e} tan'l(——o

(b} tanl

845
) t _1(8287]
8450
fc) tan_l[———BQBIJ
8450
(d) tan—l(_8287]
. 8471

B-PFCA-O-PEW/S3A 16
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For the next three (3) items that follow :

Consider the triangle ABC with vertices
A(-2 3), B(2 1) and C(1, 2).

43. What is the circumecentre of the
triangle ABC?

(@ (-2, -2)
(b (2, 2)

fc) (-2, 2)
fd) (2, -2)

44, What is the
triangle ABC?

o (3
o (33
o (3

N

@ (53]

centroid of the

45. What is the foot of the altitude from
the vertex A of the triangle ABC?

{a) (1, 4)

by (-1, 3)
fe) (-2, 4)
fd) (-1, 4)
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T 3T AT AR (3) TR % forg I MR o d (3) Ty & o

it x = a1 — -l L it A(-2 3), B(2 1) 3R C(1, 2) 9 Ty
T x =4tan (5), y=tan (———70) ABC T : |
i 1
3ﬁ( z = tan l[aéj%l
43. Tqm ABC 1 ufEs 7 87

40. x FFEs IR 37 @ L2 2

(a) tan'l[l—f)i%) o 22

b) tan"[i—‘?} (-2, 2)

fc) tan"l(%] (@) {2, -2)

() tan'l(-ilg) 44. BT ABC %1 F3% &1 87
41, x - y P SO &Y = (% 1)

(@ tan_l(%] (b) [% 2J

v f(%) fc) (1, 3]

o w2 @ 9

. x-y+z S ?
* e R 45. B ABC ¥ = A ¥ W awl wiens

fa) g F1 92 #41 §7
n @ (1, 4)
%
®) (-1, 3)
i 2
6 (c) (-2, 4)
@ 5 @ (-1, 4)

B-FFCA-O-PEW/53A 17 [P.T. O




46. The point on the parabola y2 =4ax
nearest to the focus has its

abscissa
(@ x=0
b} x=a

) x=a/2
[d) x=2a

47. A line passes through (2, 2} and is
perpendicular to the line 3x + y = 3.
Its y-intercept is

@ 3/4
(b) 4/3
fc) 1/3
(dj 3
x2 y2
48. The hyperbola —.--<_ =1 passes
a? p?

through the point (345, 1) and the
length of its latus rectum is % units.

The length of the conjugate axis is
fa} 2 units
(b) 3 units
fc) 4 units

{d) 5 units

B-PFCA-QO-PEW/53A 18
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49. The perpendicular distance between
the straight lines 6x+8y+15=0
and 3x+4y+9=0is

fa) 3/2 units
{b) 3/10 unit
fc} 3/4 unit
fd) 2/7 unit

50. The area of a triangle, whose vertices
are (3, 4), (5, 2) and the point of
intersection of the lines x = g and

y=3, is 3 square units. What is
the value of a?

fa) 2
(b) 3
{e) 4
fd) 5

51. The length of perpendicular from the
origin to a line is 5 units and the
line makes an angle 120° with the

positive direction of x-axis. The
equation of the lne is

@) x+3y=5
(b} 3x+y=10
fc) V3x-y=10

fdi None of the above
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46. TETY y2 = 4ax W @@ w9 F Frezaw

forg =1 g9 = 7
@) x=0

(b} x

a
fct x=a/2

x=2a

(@)

47. W @ (2 2) ¥ T sk @
3x+y=3 % fers ¥ wEE
y-EVE 1 7

{a) 3/4
(b) 4/3
(c) 1/3

[d 3

2
48, aﬁqwz—z-—g—z=lﬁr—g(3~/§, 1R

T 3 iR TRt TR f g
%Wﬁ%l%ﬂ%ﬁ'ﬂ“ﬁﬂﬁﬁmw
27
(@) 2T
(b) 3T
4 T8

5 R

fc}

(d)

B-PFCA-O-PEW/53A
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49, W& @l 6x+8y+15=0 3N

3x+4y+9=0F Fa H R gl
87

(a) 3/2 T
(b) 3/10 T
(c) 3/4 T
(d) 2/7

50. T = 1, R il (3, 4), (5, 2)
3t W@t x = a 7 y = 5 F AeSEA
fag ¥, 89%d 3 & E | a T AN
w1 R7
{a) 2
(b) 3

{c) 4

{[d 5

51. UF W@ W guieg & Afvera 6 owg
5 T ¢ o m x-aw i wens fem
H 120° =1 B9 T §1 TG FH G
w1 37

(@ x+3y=5
b} J3x+y=10
fe) Y3x-y=10

(d) IE A | A =

[P.T.O.
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52, The equation of the line joining the
origin to the point of intersection

of the lines f+g=1and £_+y=1

a b b a
is

(a)
{b)
fc)

(4)

For the next two (2) items that follow :

The projections of a directed line segment
on the coordinate axes are 12, 4, 3
respectively.

53. What is the
segment?

length of the line

19 units

{a)
{b) 17 units
15 units

{c)

13 units

{d}

54. What are the direction cosines of the
line segment?

fa) (12/13, 4/13, 3/13)
(b) (12/13, -4 /13, 3/13)
fc) (12/13, -4 /13, -3/13)

(d) (-12/13, -4 /13, 3/13)

B-PFCA-O-PEW/53A
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For the next two (2) items that follow :

From the point P(3, -1, 11), a perpen-
dicular is drawn on the line L given by
E: y—_—2 = Z—* 3 ]_let Q be
2 3 4
the foot of the perpendicular.

the equation

55. What are the direction ratios of the
line segment PQ?

(@ (1,6 4"
(b) (-1, 6, -4)
fe¢} {-1, -6, 4)
(d) {2, -6, &)

56. What is the length of the line
segment PQ?
()
fb} 7 units
fc) /53 units
(d) 8 units

V47 units

For the next two (2) items that follow :

A triangular plane ABC with centroid
(1, 2, 3)cuts the coordinate axes at A, B, C
respectively.

57. What are the intercepts made by the
plane ABC on the axes?

(a)
(b)
fc}
(d)

3,6,9
1,2,3
1,4,9

2,4, 6
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52. g w  @ed
§+2=1%uﬁ%@mﬁgﬂﬁaﬁaﬁﬂ
d
Y@ =1 gt =0 7

f-1-2:1 &
a b

(@) x-y=0
) x+y=0
fcg x=0

@ y=0

AT ATY AT =Y (2) WA % I

fRys @b W e @ wE ¥ vEy FE
12, 4, 3%l

53. @ WU I I A 87
19 T
17 515
15 TR
13 97§

{a)
(b)
)

(d)

54, @ wve  fwa w72 87
(@) (12/13, 4/13, 3/13)
(b) (12/13, -4 /13, 3/13)
() {12/13, -4 /13, —-3/13)
-

(d) (-12/13, -4 /13, 3/13)

B-PFCA-O-PEW/53A
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AT AT T & (2) Ty & Torw

fag P(3, -1, 11) H EEicau
§=.y_;3-z Smd ™M@ L W

wifiers ot smar 31 wF it & sfiem =
ciciexd

55. @ @ve PQ % &% gam = 37

(@) {1, 6, 4)

) (-1, 6 -4)
© (-1 -6,4)
(@ (2, -6, 4)

56. @ GUE PQ i TS ] B
fa) A7 TETE
(b) 7T
c) B3 @R
(d) &7

AT A T Y (2) FeA %6 oIS

¥ (L 2 3) 9 U AEwiE @Haa ABC
Ferie 318 &) FHI: A, B, C T Fed 2l

‘57, GUGH ABC T A& W ¥ FA-QUe 1
27
(a)
(b}
(c)
{d)

3,6,9
1, 2, 3
1, 4,9

2,4, 6

[P.T.O.
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58. What is the equation of the

plane ABC?

fa) x+2y+3z=1
fb) 3x+2y+z=3
fe) 2x+3y+62=18

(dj 6x+3y+2z=18

For the next two (2) items that follow :
A point P(1, 2, 3)is one vertex of a cuboid
formed by the coordinate planes and the

planes passing through P and parallel to
the coordinate planes.

89, What is the length of one of the
diagonals of the cuboid?
(@) 10 units
{b) 414 units
{c)] 4 units
{d) 5 units
60. What is the equation of the plane
passing through P(1, 2, 3) and
parallel to xy-plane?
fa) x+y=3
fb) x-y=-1
{c} z=3

fd) x+2y+3z=14

B-PFCA-O-PEW/53A
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61. If G(x)=v25-x2, then what is

Gix)—
lim M equal to?
x—1 x-1

1

@) ‘m

(b)
fc) -

fd) —

62. Consider the following statements :

e*+e X | . .
1. y=—2— is an increasing
function on [0, ).
e -e™* . . .
2. y=—2— IS an increasing

function on (- =, ).

Which of the above statements
is/are correct?

fa) 1 only

) 2 only

fc; Both 1 and 2
d} Neither 1 nor 2

63. For each non-zero real number x,

let f(x) = ]—3‘ The range of f is

{a) a null set

{b) a set consisting of only one
element

fc) a set consisting of two
elements

(d} a set consisting of infinitely
many elements
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58. WA ABC T WHiE0 F1 37
fal x+2y+3z=1
() 3x+2y+z=3
fo) 2x+3y+6z=18

{d} 6x+3y+2z=18

AT AT | 91 (2) Sy o g

=18 forg (1, 2 3) TFeh wmm w1 ww v R
Tz v, Fidwis guadl 3l 3% gav g
A, PR TEE B, TR

§9. ¥ ¥ Fraoit & @ wH  wem Y
(@) 10 318
(b) V14 @R
fc) 47
(d) 53

60. P(L 2 3) ¥ VA e 3R xy-TaA &
I A &1 uHeo 1 87

fag x+y=3
(b} x-y=-1
fc) z=3

fdl x+2y+3z=14
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61. o  G(x)=+y25-x% %, @
i G(x) - G{1) Fra qUs 37
x—=1 x-1

1
{a} G
1
(b) 5
1
fc) _ﬁ
1
(d) 7

62. Freafafiga s w id=m Fifvw .
TF FHAH

e +e*

[0, =) Ry="—"

T &1

eX —e X

2. (_m’ °°] W y= 9

i T B
I HUA § W HA-T1/4 T 3/R7
(@) Fad 1
(b) A 2
¢y 13 2dd
(@ F@I1IRAF2

63. JA% AW Ardfes g@m x F foy AW
Eﬁﬁqf(x]=r%%|fmmw%?

() & P o=
(b) T wg=d, R Faw o e §
(c) U ag=A, faEd @ e ¥

(d) TF o=, Fwd s 1 sEad
H

[P.T. O.
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64. Consider the following statements :

1. flx)=[x), where [.] is the
greatest integer function, is
discontinuous at x = n, where
ne Z.

f(x) =cotx is discontinuous at
X =nn, where ne Z,

Which of the above statements
is/are correct?

(a)
{b} 2 only
fc; Both 1 and 2

1 only

(d) Neither 1 nor 2

65. What is the derivative of

tan_1(\/l+x2 - IJ
x

with respect to tan~! x?

fa} O

(b) 172

fc) 1

d x

w3
66. 1f fix) =log, (17X, gix)= 20X
1-x 1+3x

and ge f{t)= g(fit)), then what is
gof[:—_l—_i] equal to?

fa) 2

fb) 1

{fc) O

(d 1/2
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For the next two {2} tems that follow :

Given a function

-1 if x<0
fix)=<ax+b if Dexcl
1 if x21

where a, b are constants. The function is
continuous everywhere.

67. What is the value of a?
{a)
{b) O |

fc) 1 ‘ :
d) 2

-1 .

68. What is the value of b?
{a)
fb) 1

-1

fc) O

{d} 2

69. Consider the following functions :
1. f=x% xeR .
2. fixl=sinx, O<x<2n
3. flg=e*, xeR

Which of the above functions have
inverse defined on their ranges?

fa) 1 and 2 only
fb) 2 and 3 only
{c/ 1 and 3 only
{dj 1,2 and 3
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64.

65,

66.

frfafiga wat | faer fifw

1. flg=[x} & [] wewn i
FeM B, x=n W A ¥ FEH
nez.

2. f(x)=cotx, x=nn 9 AH{Ad z,
&l ne Z Bl

9% FY H W R/ EE R/
(a) FEH 1

(b) HARA 2

fcj 13 2IA

(@ F@1amad2

J1o a2 1)
tan~! x % WY tan™! [__——“x Lis

x
SfeThersl 1 37

{aj O

b) 1/2

fcj 1

d) x

3

AR fix) = 1oge(i—+f} glr)= SXEX

 1+3x2

W gofm=glrey ¥ 0@
gof(e—_l—] e TR 37
e+1

fa) 2
(b} 1
fc} O

(d) 1/2

B-PFCA-O-PEW/53A
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fom 2w wew

pr
AT AW AT B (2) T * o
-1 fg x=z0
fog=lax+b @& O<x<l
1 afy xz21

2l @, b & Fod ga2 T B

67. a & HA T &7

(@ -1
(o) 0
() 1
fd) 2

68. b W uH w1 87

(@) -1
(b) 1
fe) O
(d) 2

69, Fffias e ® foem Fiem

1. flg=x3 xeR
2. flx)=sinx, O<x<2n
3. fig=e€", x=R

e R EE R
aferife e a7

(a) I 1 3R 2
(b) Faw 2 3R 3
c) a1 3R 3
() 1,2 3R 3

[P.T.O.
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For the next two (2) items that follow : 73. What is the minimum value of fix}?
The integral f dx - is of the form (@) 0
acosx + bsinx
1 [ (x+cx)] (b} 1/2
—~In| tan .
r 2
{c) -1
70. What is r equal to? (d 2
fa) a? + b2
(b) m For the next two (2) items that follow :
fc] a+b Consider the function
2 _pn2
(d) va“ -b aco;x Fox ¢g
Flg=q T -
71. What is o equal to? 3 if x=1
2
{a) tan"l(g)
b which is continuous at x = g, where o is
(b) tan“l(é) a constant.
a
-1fa+b .
fc) tan (ak bJ 74. What is the value of o ?
- 6
(d} tan*l[“ b) (a)
a+b
fb) 3 )
For the next two (2} items that follow : (e) 2
Q2 _, (d) 1
Consider the function fix)= ,
x%+1
where x e R. 75. What is lim f(x) equal to?
x—0
. fa) O
72. At what value of x does f(x) attain
minimum value? ) 3
al -1
(a) 3
() 0 fe)
fc) 1
6
d —
{d) 2 () m
B~FFCA-O-PEW/53A 26




www.prepp.in

prepp

al Exams Guide

ST ST ATy 2 (2) T W% g 73. f(x) F FIo9 AH Fq1 27
THTh I dx —, lln[tan(x"'&)] (a) O
acosx t+hbsinx r 2 w) 1/2
F &9 F B
fc) -1
70. rfFud R 37 @ 2
fa) a? +b? .
b} Vva? +b? A I A B (2) W % o
(c} a+b QLCOSX 7 x:ezt-
(@) a2 -b2 e flx)=47-2% 2
3 'ﬂﬁ x=§
71. o FREE IO BT mﬁmﬁﬁn,a’rngwm%ﬂﬁat{%
(a) tan'l(%) IR
(b) tan 1( ] 74. o 1 HF TR
-1{a+b faj 6
(c) tan” [—b)
(b} 3
b
{d) tan 1(‘1—] © 2
d 1
T T =T 2 (2) qvAit ¥ T
oo g = L El'tﬁxe]R  faew Ak 75. iii“of(x’mm%?
x
(@) ©
72. x % 8 a9 F A fF(x) AW AW I
el &7 (b) 3
fa) -1
) @ 2
(bj O R
fc) 1 6
(d) 2 @ 3
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For the next two (2) items that follow :

Consider the line x =3y and the circle

x2+y2 =4,

76. What is the area of the region in
the first quadrant enclosed by the
x-axis, the line x=+3 and the

circle?
n 3
W 37
n V3
© 2y
T 1
“ 3732

(d] None of the above

77. What is the area of the region in
the first quadrant enclosed by the
x-axis, the line x=+3y and the

circle?
N
(a) 5
m
(b) c
n 3
© 377

fd) None of the above

B-PFCA-O-PEW/53A

28

For the next two (2) items that follow ;

Consider the
Y=COSX.

78. What is the area of the region

79. What is the area of the region

For the next two (2) items that follow :

Consider the function

8B0. What is the maximum value of the

Your Personal Exams Guide

curves y=sinx and

bounded by the above two curves
and the lines x = 0 and x = 43?

faj 2 -1

(b} ¥2+1

fc) 2 .
(d) 2

bounded by the above two curves
and the lines x=§ and x = g?

fa) J2-1
(b) V2 +1
fc) 242

(d 2 .

flx)=0-75x% - x3 ~gx2 4+ 7

function?
{a 1
(b} 3
fc) 7

{d) 9
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AT AT AT B (2) WgAi o fog T 3T AW B (2) Wi % T
W x=+3y M g9 x?2+y? =4 W fa= R Tl y = sin x AR y = cos x W =R Hifm)
$ifae
76. o gty § x-3m, Y@ x = 43 T 78.3'4'{[?5?(335331?@%:::03?[1.%:2
@ i v e @ T oREg YR 1 Sk o 87
n V3 fa) v2-1
@ 377
(b} V2+1
(c) 2
() g-? (@ 2

79. WﬁﬁaﬂﬁﬁmWﬁx=gmx=g

n 1
o 3 2 T IfEg WU F ST6 11 8?
(@ ~2-1
() A TR T ) 341
fc) 2J2
77. v Sguta d -4, W x = /3y R @2
7§ R w1 g @ ¥?
. A A e 2 (2) WA % A
fa —
3 T flx)=0-75x* - x® -9x2 +7 W foRR
Hifsg |
fb) g
80. Fe Tl AfEHRdH A = RY
fa} 1
n 3
@ 3% b 3
fc) 7
(d) I T A BE T {d 9
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81. Consider the following statements : 83. What is dy

=2 egual to? !
dx G
1. The function attains local
minima at x = -2 and x = 3, @) ¥
X
2. The function increases in the y
interval {-2, 0). {b) -
Which of the above statements (c) X
is/are correct? € g
fa} 1 only (d) _x
y .

(bj 2 only

2
84, What is y equal to?
fc¢ Both 1 and 2 dx 2

a” a?
(d} Neither 1 nor 2 fa} — b —
2 2
y x
2 2
el -2 @ -=
x y

For the next three (3) items that follow :

. . i 85. Consider the following statements :
Consider the parametric equation

1.  The general solution of

a(l-¢t2) 2at dy
x=—— y=""" = = fx)+x
1+12 1412 dx
is of the form y = g{(x) + ¢, where .

c is an arbitrary constant.
82. What does the equation represent? Y

dy 2 .
2.  The degree of[—J = fix)is 2.
fa) 1t represents a circle of dx

diameter a Which of the above statements

is/are correct?
fb) It represents a circle of
radius a fa) 1 only
fb) 2 only
fc) It represents a parabola
fc/ Both 1 and 2

{d) None of the above fd) Neither 1 nor 2
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81. Ffafas wut ® fiam it

1. %M, x=-2 3R x =3 | WA
=18 (minima) W @ 2|

2. oM, A (-2, 0)F F¥uE )

I we I ¥ RE-T/ T AR
(a) HFF 1

(b) Fad 2

) 13123

(@ JT1ARAE2

AT I | i (3) vt F e

a(l~t?)
1+¢2

yefvas wfm x =
R famm il

y:
1+t2

82. I8 g # fowlta e 2?
(@) & o =08 F TH g9 FERE Fa g

(b) T’ a P w1 w99 Fislg #=@@
3

(c) 8 wE Tad Frefa e

(d) Iudw | | w1 7

B-PFCA-O-PEW/53A 31

prepp

ersonal Exams Guide

2
84. i-é-"ﬁﬁaﬁsaw%?

dx
a2 02
“ b 2
@ = B
a2 a2
- d) - —
© -5 @ -5

85. Frfofigs woFl W fomsm Fifdm
1. %:f(x)+x ] HMHEb B

y=g{x)+cF F9FH E, Tl c
=5 A B

2. ay)*_ x) 1 9W@ 2 R
() =i

I FeAl B W -1/ T §/80
(@) ¥ 1

(b) FaE 2

(cj 13T 2 <A

(d) Ad@13rad2

[P.T.O.




86. What is J7L-di—_- equal to?
Vx? +a
x+vx? + a?
fa) In|]—-—— = |4i¢

a

fb) In tc

x-Vx?+q?
[£3

x? +yx? + 42
fc) 1n

+c

{d} Norne of the above

where ¢ is the constant of

integration.

For the next four (4) items that follow :

n sin 2mx

Censider the integral I, =J'O - dx,
sinx

where m is a positive integer.

87. What is /; equal to?

{aj O

(b} 1/2

fe) 1

(@ 2

B-PFCA-O-PEW/53A
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88. What is I; + 75 equal to?
faj 4
{b) 2
fc) 1

(d] 0O

89. What is I, equal to?
{aj O
(b) 1
fc) m

{d) 2m

90. Consider the following :
1. I, -1, is egual to 0.
2. Iy, >1,

Which of the above is/are correct?
faj 1 only

(b} 2 only

fc} Both 1 and 2

{d) Neither 1 nor 2
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86. I\/-——
x+\)x2 +a2

fa) In|————+¢
a

_Jy2 2
(b) lnf_\.i_.tg__-}-c
a

fc) In

+C

x2 +Vx? +a®
a

(d) oE H § B AL

S8t ¢ BT F AT R

AW AT AR AR (4) WA & fo

J-r: sinZ2mx
0 sinx

. it 3, W fomn Fifsm)

HAES I, = dx, & m & YA

87. I, fws s 37
faj O
b) 1/2

€ 1

{a 2
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88, I, + [, oo aum 27
(@) 4
() 2
c) 1

(d 0

89. I, fros sus 2?
(@ ©
(b) 1
) m

{d) 2m

90. ffafas w o= #ifg -

1. I, -1I

n_1» O F TSR

2. gy > i

IYF A § FH-91/8 wd /R0
(@) 4 1

(b) HFAA 2

(c) 1 ¥ 2

[d) a@13MmMId2

[P.T.O.
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For the next two (2) items that follow :

2, .4
Given that i[%) - Ax + B.

l+x+x
91. What is the value of A?
{a) -1
b} 1
(c) 2
{d} 4

92. What is the value of B?
faj -1
fb) 1
fe} 2
d) 4

For the next two (2] items that follow :

Given that lim (2 LS BJ =3.
X 3o
93. What is the value of A?
fa} -1
(b 1
{c) 2
(dy 3

94, What is the value of B?

(@) -1
(b) 3
fcg -4
fd) -3

B-PFCA-O-PEW/53A
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95, What 1is the solution of the
differential equation

ydx—xdyzo,?
Y2
fa) xy=c
(b) y=cx

fcj x+y=c

(df x-y=c

where ¢ is an arbitrary constant.

96. What is the solution of the
differential equation

sin(@)—a =07
dx

{a) y=xsinla+ec

() x=ysinla+c

1

fc) y=x+xsin""a+c

{d) y=sinla+e

where ¢ is an arbitrary constant,

97. What is the solution of the
differential equation

2
—+—-y° =07
dy y

{c) xy=x4+c
(b) xy=y* +c
e} 4xy=y* +c

(d) 3xy=y> +c

where c¢ is an arbitrary constant.
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AT AW FTA 2 (2) Tyt & o

ﬁmwéﬁi[ﬁ]=m+3
dx\ 1+ x+ x2 '
91, A I A w187
fa) -1
(b} 1
fc) 2
(d} 4
92. B qF €1 87
) faj -1
fb) 1
fc) 2
(d) 4
AT 3 A A (2) T F g

. x—=| 1+x

fom T 2 6 lim [2”‘2 —Ax—B]-—-B

93. A % UM ¥ 87
@ -1
(b} 1
fc) 2
(d 3

94, B % 9 7T &7

{fa) -1
(b) 3

) -4
fd) -3
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95. sawe wiam Y XW _ o 5 wg

y2

w1 37

fa) xy=c

) y=cx

fc) x+y=c

fdl x-y=c

TR ¢ T @5 AWM 2

96. fghe YHlERT sin[g-i-’]—a=o FEA

T &7

fal y= xsinla+c

(b} x= ysin'1a+c

1

{fc)] y=x+xsin""a+e

fd) y= sin"la+e¢

W&l ¢ UF ©=8 W A

97. WWE+£—-E{2:O = TR

dy y
1 87?

{a} xy=x4+c
b} xy=y*+c
() 4xy=y*+c
{a) 3xy=y3+c

TR ¢ & TTD IR 2

[P.T.O.
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X = > - oo .
08. What is I xe™ dx equal to? 100. A force F = 3i +4 - 3k is applied at

(x+1)2 the point P, whose position vector

is 7=20-2j-3k. What is the
magnitude of the moment of the
force about the origin?

fa (x+1)2e*+c
{a} 23 units
(b (x+1)e* +c fb} 19 units

{e) 18 units

- e {d) 21 units

fc

101. Given that the vectors o, and E are
non-collinear. The values of x and y

&) —&_4c for which -7 =w holds true if
(x+1)? ﬁ=2x&’+y§, 3=2y&'+3x§ and

—

—

W= 2¢ - 5B, are
where ¢ is the constant of

mtegration. fa) x=2, y=1

() x=1 y=2

99. The adjacent sides AB and AC of fc}] x=-2, y=1
a triangle ABC are represented
by the vectors -2{+3j+2K and [d) x=-2, y=-1 .

-4 + 5]+ 2K respectively. The area
of the triangle ABC is 5 N B
102. If|d|=7, |b|=11and |d+b| =103,

fa) 6 square units then |d -b| is equal to
fa) 40

fb) 5 square units
(&) 10

¢} 4 sguare units

“ i ) 410

{d) 3 square units (d) 2J10

B-PFCA-O-PEW/B3A 36
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98. | XXX oy e 27

99, 7% f[e ABC # "o ¢ AB it AC

(x+1)?

@ (x+1)2e* +c

b) (x+1)e* +e

(c)

(d)

FH9: wlRmt -2 +3j+2K

—4f +57+2k g1 Pef| £ 9 2

= ABC %1 &9%a w01 &7
(@) © T FHT
) 5 ot gd
(c) 4 5T

(d) 3 wohrd

B-PFCA-O-PEW/B3A
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100. T I F=31+4]-3Kk
forer fufa wfewm 7 =21
T W@ R e ®
AT 1 TR F RY

(a) 23T
(b) 19 T
fc) 18 5HE
(dj 21758

101. fen m ¥ f% wRm o =R

prepp

ersonal Exams Guide

/g P W,

—2j-3k %,

TRy T &

B wfw

X Ay F A R, R R g-T =

Ty ®@ 8, IR U

B=2yd +3xp 3 D=
7 B?

fa) x=2, y=1
(b) x=1y=2
fc) x=-2 y=1

[d) x=-2 y=-1

102. zfz

-
laj=17,

-
=2x§.’+yﬁ,

% -58 &

bl=11 3k

|d+b|=10v3, @ |3 - b| Fred =t

7

(@) 40
(b} 10
fc} 410
(d) 2410

[P.T.O.
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103. Let o, B, ¥y be distinct real
numbers. The points with position
vectors ol +fj + vk, Bl +yj +ak and
vi +aj + Bk
fa) are collinear
(b) form an equilateral triangle
fc) form a scalene triangle
{d) form a right-angled triangle

- 5 2 .
104. If a+b +c¢c =0, then which of the
following is/are correct?

- —
2. dxb=bxc=¢xd

Select the correct answer using the
code given beilow,

{a) 1 only
(b) 2 only
fc/ Both 1 and 2

{d) Neither 1 nor 2

105. [f | +b|=|d@ - b| then which one of

the following is correct?

{a} @ =2b for some scalar A
fb) & is paraliel to b
(¢) d is perpendicular to b

e T
a=b=0

(dj

B-PFCA-O-PEW/53A 38
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106. The mean and the wvarance of
10 observations are given to be
4 and 2 respectively. If every
observation is multiplied by 2, the
mean and the variance of the new
series will be respectively

{a) 8 and 20
{b} 8 and 4
fc} 8 and 8

{d) 80 and 40

107. Which one of the following measures !
of central tendency is used in
construction of index numbers?

fa} Harmonic mean
fb) Geometric mean
{c) Median

fd) Mode

108. The correlation coefficient between
two variables X and Y is found to
be 0-6. All the observations on .
X and Y are transformed using
the transformations UJ =2 - 3X and i
V=4Y + 1. The cotrelation coefficient
between the transformed variables
U and V will be

faj -0-5
(b) +0-5
) -0-6

{d +0-6
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103. 1A it B o, B, v T awafes a@md 106. 10 & & Aeq N TEE TG 4 MR 2

%1 foufy afewl of +Bf + vk, BT +yj+ak foy e &1 9f v Do 2 | T
HR yi +of + Bk TR g S, @ 9 aoft & arm el wEw
FHA: T ER?
(@) €@ E
(a) 8 3R 20
(b) TH GHeTg B W &
(b) 8 3M 4
fc) T fawmeng Hrye = m %
fc) 838
(d) T TR e sA e §
. (d) 80 ¥ 40
104. 7R F+b+2¢ =0, @ Frraras §
. T/} wE R/E? 107. gE& i = w1 F fou Pt 8
I A HE-H FE gy oA @ H
1. a,b_:cWFﬁH%I o 37
2. axb=bxt=¢xa
2 Ry ™ g W oW W W L ie
I (b) PR TR
(@) F 1 (c) T
(b) had 2 @ e
(¢} 1 32T
(d) q;ﬁlgﬁ{q—&ﬁz 108. ﬂﬁﬁxaﬁt Y%WWWO'G
e S B OX 3R Y & oft dan =t
T U =2-3X 3R V=4Y +1
105. R 3+b|=|d-b} A PrefaRea 3 A Emﬁg(wzﬂa%mw%lmﬁﬁ
- U V % 9 geeer S )
FH-T1 T A7 7
fa) d=xrb, To few A % Ry @ 0.5
(b) @, b ¥ EAR b +0.5
(¢) 2, bW sAhers (cj -0-6
d) G-b=0 (d) +0-6

B-PFCA-O-PEW/53A 39 [P.T. O.




109. Which of the following statements
is/fare correct in respect of
regression coefficients? -

1. It measures the degree of
linear relationship between two
variables.

2. It gives the value by which one
variable changes for a unit
change in the other variable.

Select the correct answer using the
code given below.

fa} 1 only
(b} 2 only
fc} Both 1 and 2

{d}] Neither 1 nor 2

110. A set of annual numerical data,
comparable over the years, is given
for the last 12 years.

Consider the following staternents :

1. The data is best represented
by a ©broken line graph,
each corner (turning point)
representing the data of one
year.

2. Such a graph depicts the
chronological change and
also enables one to make
a short-term forecast.

Which of the above statements
is/are correct?

fa} 1 only
(b} 2 only
fe) Both 1 and 2

{d} Neither 1 nor 2

B-PFCA-O-PEW/53A
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111. Two men hit at a target with
probabilities 1/2 and 1/3
respectively. What is the probability
that exactly one of them hits the
target?

(@) 1/2
(b) 1/3
¢ 1/6

(d) 2/3

112. Two similar boxes 3. (i = 1, 2) contain
(1+1) red and (5-1-1) black balls.
One box is chosen at random and
two balls are drawn randomly.
What is the probability that both
the balls are of different colours?

(@ 1/2
(b} 3710
c) 2/5
(d) 3/5

113. In an examination. the probability
of a candidate solving a question
1s 1/2. Out of given 5 questions
in the examinaticn, what is the
probability that the candidate was
able to solve at least 2 guestions?

@) 1/64
b} 3/16
(c) 1/2

{d 13/16
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109. HUFEY o % frw Frafafea et §
¥ PH-w/3 B /87

1. 78 @ 0 ¥ &= s gy A
HIAT S AT B)

2. ¥R 98 UH 2 & o f w = 9,

TR W e T wfEds 2R 4,
afterdq et B

TR e T g W W W AR IW
L

fa) Had 1

(b) 9 2

(c) 1 3w 2
(@ T 1T d2

110. i 12 ==f & foau affs weT™=
arferel a agem, ) ot § geeiy R,
o &)

Frafafaa weml W faur fif

1. 3 sf#2 ww @ivga Y@ I% 3w
wEen el f %, T
(ad fag) ws ad % w2 Fiwfia
Ll 2

2. TH YR I WG HIATHEF &0
feam & =i sty @im +e
= ot gER = R

39 el ¥ | AW /R a9l R/
{a) FT 1

(b) % 2

fc) 132

(d A 1AMAH 2
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. < =gt el wam & w172 o 173

F) wiwmet ¥ Yea &1 98 WiRws T
2 &% =1 4 353 3% = 0 aE A
ST 27

faj 1/2
b} 1/3
fcj 1/6

(dj 2/3

112. 2 @ et B (=1, 2 F (i+1)

A AR (5—i- 1) B T 21 T fa=
REA=RIE-C B L I O e i i
Frrreht st ¥ | 9 Wik @@ § f6 S
T - an it 7

faj 172
(b) 3/10
€) 2/5

fdj 3/5

113. v g0 § % angefi ¥ UF 4 H T

H4 H VR 1/2 R1 TR WA 4@
? for 7lien F fag o 5 weAt A § apeeff
F-Y-F0 2 GE H BG FH F 6w
TI7

(@) 1/64
(b} 3/16
cf 172

(dl 13/16

[P.T. 0.




114. If Ac B, then which one of the 117. If A and B are two events such
following is mot correct? that P(AUB)= 3 P(AnB)= 1
4’ 4
fa P(AnB)=0 and P(E}:%, then what is P(B)
equal to?
P(A)
b) PA|B)=———
(b) P(A|B) P(B) faj 1/3
(b} 2/3
P(B fcg 1/8
@ P(B|A)=—2)
P(A) (dj 2/9
P(A) 118. The ‘ess than’ ogive curve and the
fd) P(A|(AuB))= TB) ‘more than’ ogive curve intersect at
fa) median
115. The mean and the variance in a {b) mode

binomial distribution are found

{c} arithmetic mean
to be 2 and 1 respectively. The

probability P(X = 0) is (d} None of the above

faj 1/2 119. In throwing of two dice, the number
of exhaustive events that ‘5’ will

{b) 1/4 never appear on any one of the
dice is

fc) 1/8 faj 5

(df 1/16 fb) 18
{fc) 25

116. The mean of five numbers is 30. If (@) 36

one number is excluded, their mean

becomes 28. The excluded number 120. Two cards are drawn successively

is without replacement from a well-
shuffled pack of 32 cards. The

faj 28 probability of drawing two aces is
faj 1/26

(b) 30
(b 17221

fc) 35 fc} 47223

(d) 38 dif 1/13
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114. 3l Ac B 2, @ Fr=fcfaa & @ $=-w 117. I A 3M B < WeAN W YR ? T

o w27 P(AuB]zg, P(Ar’wB):% ain
fa) P(AnB)=0 P(Z):%,?ﬁp(ﬁ*)ﬁm&sw%?
m P(alB=_1) e
P(B) (b 2/3
{ct 1/8
_P(B)
{c) P(BlA)F_P(A] (dj 2/9
J 118, ‘&9 W@ 90 TF R 9 T o 9
@ Plal@avs) -2 R R @
, (@) WITEERR T
(b} SgIH W
115. e fme 929 & w2 weo o 2 fe)  HHIRR HIH T
afit 1 um S ¥ ) iR P(X = 0) T (@) 5w § @ FE 7
27
119. ¥ oG # w1 7 3 Fedy gznst A,
fa 172 5 o 4 fedlt ft 9 W 5 R T
b 174 qTa, wEd 5 27
) fc) 1/8 @
{b) 18
(d) 1/16 () 25
) (@) 36

116. Uf9 TEmes %1 "ieg 30 31 9R % @em
= Bg R S 3, @ IH Ay 28 | 120. = e F2 FC AWM 52 W A &

o ¥t S T dean w4 27 TE A 8 T yfemE F 9 R I
' e W ) P e 2w F g
fa) 28 B & iR 27
(b) 30 {a) 1/26
(b) 17221
fe 35 {c) 4/223
(d) 38 {dj 1/13
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